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Wrongly matched pair among the following

208 Toedes’ SN 2 BODLED 208
Options :
Galileo Galile — Law of inertia

DG 7O — 2ESG DaHBodw

Michael Faraday — Law of electromagnetic induction

DBS O DYoo HOE DohHaaren
2. %

Rudolf Hertz — Generation of electromagnetic waves

. cb::ne_'ib m% - 3)::335{305.35%0@ SEOTO ST G

C. V. Raman — Wave theory of light

2.4, TPalm — SPoed ddord marodho
4.9 ®
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A person walks up a stalled escalator in 80 sec. When standing on the same escalator,
now moving. he is carried up in 20 s. The time taken by him to walk up the moving
escalator is

e DD RG0S BT A8 DS AT 80 3 V0 BB, VB I TS
Se20080%) D0 T oadd 13 20 s 0" 3 St A0d. SRR
SR80 P S AP PS DTS DY 500

Options :

1_3345
8 s

3 % 128

4. 165
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Time:0

A car moving with uniform acceleration covers the distance of 200 m in first
2 seconds and the distance of 220 m in next 4 seconds. The velocity of the car after
7 seconds 1

iy 860 & HAtreRd) S0 Adh 2 2ol 200 bg Erod), S
4 282008" 220 b Gr6o Hatred, 7 8K S0 T Htfo

Options :

1« 10 ms



20 ms

3 % 15 ms

. 1
4 x S0 ms
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Time: 0

A flywheel 1s rotating at a rate of 150 rev/minute. If it slows at constant retardation of
7 1ads”, then the time required for the wheel to come to rest s

2% (e $g0 150 reviminute Gend Fveo St 8. O 7 rads” f’gd
A58 Si6rmo HA3R008, %0 o 8S TS 2 S0

Options :

- hSE
1. %
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Time: 0
“The untform motion is possible when no frictional forces oppose™ is the concept of

0060 were H{ET30SRRDE 2B OB PEEW" 6D il d66?
Options :

The Greek thinker Aristotle

. B> SS(DS B OS

The Scientist Newton

TRDL AT(OD
2. % Fiana

The Scientist Copernicus

TP §06)80
3.% =

The Scientist Galileo

o GOdE
4.4 =
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A car is moving along a circular path having coefficient of friction 0.5 and radius of
curvature 16.2 m. Then the maximum velocity of the car that can travel without
falling outwards 1s

(Acceleration due to gravity = 10 ms™)
2ode (beaso 0.5 dobodn Dsor aﬂﬁgo 16.2m o 5,856 ardo DOLG w8 T

B30%) 8. 0 & 5 oS HATDor HsrHocsi K8 i

(thdod &dtao =10 1115'2)
Options :

1
1 % 18 ms

= —r
) o 32.4 kmh

1
. 18 kmh

4 % 324 ms™
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A ball of mass 10 g moving with 4 ms™ collides with another ball of same mass at
rest. If 0.2 is the coefficient of restitution of the collision, then the ratio of the
velocity of first ball to that of the second ball 1s

573 10 g o 2,8 w08 4 ms” Sod O 0d 91073 ffo :)"S'&U?‘%@?Sﬁ N
58 2099 & £908. & wdnrso :’._J,@"?Sa’agﬁé 53%0 0.2 090000 A0GE 80
TS, Botisd 108 DPS W AWd
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= a a A\
A force, F=| 41+31-5k N is acting on a body making an angle 0 with the
] F [ ' [
\ /

horizontal. Then the angle ‘6" is
(
!

008 ‘0" Srno B3 g S0 P wVAY i:K

41+31-5K |N 0 Bt w
0 0 Dewsd
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A circular plate A of radius 1.51 is removed from one edge of a uniform circular plate
B of radius 2r. The distance of centre of mass of the remaining portion from the

centre of the plate B is

2t 6o o w8 I508 Bgrs6 Do B w8 woch dod 1.57 o v
HTsE s A & Sofiowrd. 1A ertlo dwg), Gd[Te? Sodo S B aiwg)
(5073 Sogdo &oc &0t ¢

Options :
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The angular momentum of a solid cylinder rotating about its geometric axis with
1. I R . s
angular speed 40 rad s~ 1s 2 kgm™ s, If the radius of the cylinder is 10 cm, the mass

of the cylinder 1s

401ads™ Ecdoth SGE Fdomo Bowesddy a8 od QP00 2] oo T
w?ﬁmé’%oﬁ) vgo pdore 2 kg m's™, R0 E.F?Sa‘:go 10 cm evand TR0 Q[0
Options :

% 2Kke

A 10 kg
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Time: 0
When a body of mass 8 kg is attached to a spring balance, the reading of the balance
is 20 cm. Instead of 8 kg, if another body of mass M is suspended from the spring

balance and is made to oscillate vertically, the time period of oscillation is ES‘ then

the value of M 1

(Acceleration due to gravity =10 ms'z}
8 kg B[00 28 WP w8 R)oh TRD SHDEIIYE 3)oh TP 8doth
20 cm. 8 kg @503 exdoen M GO(0°2 o 08 HRP & Y0h PRV

$090c) §8a vowo EoTren SoPEL B SUFHEd s“'uogs ewond M

DL
(6o 6o = 10ms”)
Options :

1.#4}:‘@
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Under the action of a force F = -75y where F is in Newton and y is in meters. an
object of mass 3 kg executes simple harmonic motion. If the velocity of the object at
the mean position is 2.5 ms ™, the maximum acceleration of the object is

F=-75y &0 OR sty o0& 3 kg G020 w8 HNY NE¥ LTSS Suo
Sok0od) 6, 98¢ F drgtod & nboto y tage’. sy og o 368 emo
S0 2.5ms” eond 330 1162y & Stao

Options :

& oy D
| x OIS

=3
3 % 10 ms—

125ms™
4. &
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The time period of a 1500 kg satellite is equal to the time period of rotation of the
earth. The altitude of the satellite is nearly

1500 kg G:5(03 tfe) 08 &d0firdn 00g) 8960 S°00 ZP GS) HEs
SOADAL) VAT & TR0 QWS ) AT

Options :

1 % 42,211 km



5 @ 35.840 km

3 % 6.400 km

4 % 13.800 km
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Time:0

A steel rod of radius 20 mm and length of 2 m is acted upon by a force of 400 kN
along the length. The values of stress and strain are respectively

(Yoee = 2x10"Nm™?)
20 mm g, 2 m TFekeio a8 ey Seao ek Sowd 400 KN exwo

2AIrA0 & $¢ & DB B0k 4O Dewsen SET

(6, oo teagiinr = 2x10" N
Options :

.« 1.96x10°Nm™, 0.16%

3.18x10°Nm™2. 0.16%
2.

o x 3-18x10°Nm™, 0.32%

4. % 4x10°Nm™, 0.2%
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Time:0

A tank of oil has height of 4 m and density 0f850 kgm™ . The gauge pressure at the
bottom of the tank i

(1 atm =10’ Pa, Acceleration due o gravity = 10 ms ™)

S ErS & 4m A AR Suth. & AP Fogd 850 kgm™. &rjoS wEoH

Ho AFHE HEABN

(1atm=10’ Pa. &S Sdto = 10 ms”)
Options :

, v 34 kPa
384 kPa

. 284KkPa

4 200 kPa
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In the given triple point curve as shown in fig. the curves AO, BO, CO represents

20\ D80S G5 Doy H%08" AO, BO. CO 880000 2rdossd

Options:

AO = Sublimation curve, BO = fusion curve, CO = Vaporization curve

AO = &&\3% 5%0. BO = 20DBOB 380, CO = wﬁ:be;is’aaﬁ H8o

1. %

AO = Fusion curve, BO = Sublimation curve, CO = Vaporization curve

- AO = D0RFIS H8o. BO = &30 950, CO = wf‘.abaﬁéé HZo

AO = Fusion curve, BO = Vaporization curve, CO = Sublimation curve

L« A0 = 20BN H0, BO = wﬁ:;jaﬁa‘aé 9%0. CO = &d\3% dgo

AO = Vaporization curve. BO = fusion curve, CO = Sublimation curve

AO = & Bd% Hgo. BO = 20808 950, CO = &dy33 dgo
4, %
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When a monatomic gas expands at constant pressure, the percentages of heat supplied
that 1s used to do external work and to increase its internal energy are respectively

2 DOATEVS TV N 0 34 av}g%ﬁé.)oaaa’g;gd;. B0 64308 eriey )
Sabredd 8ak wodts 35 Dot SIS AVGFADL TTL ST
Options :

.« 40.60

_  60.40

~J
LN
)
LA
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The heat energy supplied to a diatomic gas at constant pressure is 210 J, then the
work done by the gas is

08 BROBATTOS TaR0DD DY Deko 36 2107 62 330 HEHT B,
TN B 5

Options :

L, 601

L 1507



L% 9017

4w 21017
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A monatomic gas at 630 K expands adiabatically to 27 times its initial volume. The
final temperature of the gas is

630 K 56 8 DENBATLVS TAh0Y) Q@gs 280 oo §'B 0BArEES 27
6w (S DodoB. kv g 308 e

Options:

170 K

70K
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For the given concentration, if the ratio of the diameters of the molecules of two
gases is | : 2. then the ratio of their mean free paths is

@é&aadb 6 S, Bothy AL ANE), WYY a“]gﬂ‘)e.) A 1:2 29008
T8 inéwabcé DGO b‘éqD@
Options :

141

3 % 1:1

Question Number : 101 Question Id : 550053901 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The amplitude of a wave, represented by displacement equation

: 1 ;
sinmt+—cosmnt will be

TR

w8 Sbof Sﬂa‘: B0% 2a0dtrdw ¥ = L'3111 Ot t —cos OF 900 T°Q 0

R

DOE Joh?
Options :

a+b

| % ab



Jesdlb

Va£+/b

3 W’ Elb
a+b
4 V2D
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Light enters from air into a given medium at an angle of 45° with interface of the
air-medium surface. After refraction, the light ray is deviated through an angle of
15° from its original direction. The refractive index of the medium is

508 PO K000 w8 ardgo 6703 45° H8d Srod DHIANE. H583%0
B08% SHTS 508 & O B3 08 15° Do BoBHA. wond c3rdLo
a8, 535D torado

Options :

. » 1732

L)
ad
Lad

, = L.

L, la14



4% 2.732
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The relation I=1, cos’ 6 is

(In— Intensity of incident light on the analyser, [ - intensity of emergent light from
the analyser, 6 — angle between plane of polarization and the axis of analyser)

I=1, L:@s2 6 22308

(I~ D356 » DSDVED) 0D B8, [- DFES8 rhot LxFESD
503 08, §-T0d ¢yNndve LR DFTO LIS | Swo)
Options :

Newton’s law

Kkﬁéédé QoS00
1. %

Snell’s law

f\:}‘lﬁ QoA0
) %

Brewster’s law

- B7r00 datvo

Malus’s law

4 @ STVD Q0T
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Time: 0
In a region, the intensity of an electric field is given by E= ( 2431 +k ) NC". The

electric flux through a surface of area 101 m” in the region is

i

w8 pt0’ ey £8 698 E=(21+3) +k|NC. prejo 10im’ do sdswo

o

oL Dm?gé 9DTT0 AL

Options :

2=l
¢ 2 Nm™C
. 10 Nm’C™

. 15 Nm’C™

AN !
4 v 20NmC
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The figure shows three points A. B and C in a uniform electric field (E). The line
AB 1s perpendicular to BC and BC is parallel to E. If Vy, Vg and Vi are the
potentials at A, B and C respectively, then the correct option is

NEGT) 3 Eo ( E) &' e Dodoyen A, B dvbotn € e desods”
Srowddd. AB A6 BC 8 voworr 00050 BC A E 8 droddore &) 3.
AB, C v 3¢ deid @agcmé o SdT Va, Vg, Ve @and, S06 8¢

280D, 5

—_—
Options :
1. % E-A - T"':13 . T"":c
o Va=Ve > Ve
. V, =V, <V,
4, % Va > Vg = V¢
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Between the plates of a parallel plate capacitor of plate area A and capacity
1
0.025uF, a metal plate of area, A and thickness equal to EOf the separation between

the plates of the capacitor is introduced. If the capacitor is charged to 100 V, then
the amount of work done to remove the metal plate from the capacitor is

D8 DT A 00k SR 0.025F to 28 Ddrodt Doy SePand vy

|
Sodsf, IFfo A, 3006 Hode e drded 5:3 Sody Sodo o wé &'1rY)

DI EodTED. ¢ 3Fd06 & 100 V deordade %, 8 Husdy

3ritib A0d Dewnds SaiueH SaHsdhd B
Options :

o 62.5u]

5 % 30.2 ]

L 5267

L 354u
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In the circuit given below. if the bulb is to glow with maximum intensity, the value
of R’ 1s

(neglect internal resistance of the cell)

oS f;?rf)hé Soodoes’, 8oy (102 SHesS Do STH) ‘R7 dewad

(2000 wod8) Bty engotod)

6V
I
_imh,—
@
LAV, 045 W
Options :
. o b25 0
L. 450
L s 6O
. % 85Q
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The incorrect statement regarding the given circuit

PO SVOITIS 020G STy DDVDAW

30

Options :
current through 2 Q is 2A

2Q oroe DDdrotdd DEES DA 2A

current through 3 Q is 4A

30 o Pdarotid DEIS DI 4A

potential at C is 12 'V
C H¢ TEJaes 12V
i~ oy

potential at Ais 10V

A DS Fe3dotes 10V
4. @ =
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A charged particle when enters a uniform magnetic field moves in a helical path. If
its angular velocity is 47x10° rads™ and its velocity in the direction of magnetic

field is 3x10° ms™ then the pitch of the helix is

w8 DEATTDY S0 2,8 B B 08 Edo '3 YHI0d) VB \ersd drdodd
Dofredoddy. o Sah S 41x10°1ads™ 8ok w0k 08 £ 63 &
@ S 3x10°ms™ . o DBywo g, Fdoroddo

Options :

1 dcm
> = 10 cm

3 ¥ 15cm

4 % 20cm
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The force acting per unit length when a very long straight conductor is carrying a
steady current of | A and the direction of the current is from south to north is

(The horizontal component of the earth’s magnetic field at the place is 3x10° T and
the direction of the field is from the geographical south to geographical north.)

rer TN w8 8) D T30S’ 1 A DS HrROD) Dy oBako
BT 8 B0 D0é GSTIS G Y\ & D508 T
DVBLV0 dods

(&2 93408 2720 G, wabiF) 08 Fo ), §6a HEr0S6 wodo 3x10° T
SBako Edo ), B3 ePAVS ko Mod IFHVS eddo DY Gokwod).

Options :

4 5 i
_— 3x10 le

1x107 Nm!
2. %

3.v 0

4« 1.5x10° Nm''
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In some ferromagnetic materials magnetization disappears on the removal of the
external magnefic field. Such materials are called

Q) 28 eﬂuﬁsaﬂgjoej :Jc:s“g‘jueﬁﬁ SRS e.acx“.bé*%oej £ Fofodii®
0K 08808 e BEIADH( DTN



Options :
soft ferromagnetic materials

00D DY e_aaﬁo%“&oe:ﬁ DT
1. ¢ '

hard ferromagnetic materials

58 8 e.r.ao‘.bﬁﬂajoe:'a DHOPTEED
2. % £ G

anti-ferromagnetic materials

O370e3-08 @m&boé DHETEED
3. % ch

semiconductors

293 STCEITSTRL
4.% @
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When the current through an inductor is changed at from 2 A to 6 A m time 2 s, emf
induced in it is 3 V. Then the inductance of the inductor is

28 9680 (Dot HITRD) DS & 2 A0k 6A 92550 & S8,
@S’ 3V emf HBS2038. wod & 8o g IS0
Options :

. % 1L4H

, « 0.8H



Question Number : 113 Question Id : 550053913 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An inductor 1s connected to an ac source of frequency 50 Hz. The frequency of the
instantaneous power developed in the circuit is

50 Hz 3080 o 2,8 ac 2508 w8 208N SdndaB, Soobod
&) o0l BE s awmgéo gy, Fapdyo
Options :

2

Hz

A |

1. #

50 Hz

. 100 Hz

4 % 200 Hz
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If E and Bare the electric and magnefic field vectors of an electromagnetic wave,
then the direction of propagation of the electromagnetic wave is

E 208050 Bew ag DeiojeanaF) 08 Sdofio ), S BBk WAk 08
£ RA30YH DA 0 Sorh HFE &3

Options :

along the direction of E

E &% eocrdd

1. %

along the direction of B

- B &%¢5° ot

parallel to the direction of ExB

Ly E xB 8% Dd3T0380m &otHa)

perpendicular to the direction of E x B

4« ExB 8%% 0o80rr €0t
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The maximum kinetic energy of the emitted photoelectrons from a photosensitive
material of work function ¢, when light of frequency 'v' incidents on it is ‘E’. If the

frequency of the incident light is 3 v, the maximum kinetic energy of the emitted
photoelectrons is

20 oo o ws T arg) M Dmgop 'V FHDRfo o 508
DAY rrdooly S Jogeow (182 182 33 °E". Hiiddooly 508
F9dj0 3V wand ecrdndhy S dogdow 183 S 33

Options :

o 3E+2¢
L« 3E-20
L« 2ZE+39

. x 2E-30
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The distance of closest approach of an alpha particle to a nucleus when the alpha
particle moves towards the nucleus with linear momentum P is d. The distance of
closest approach of alpha particle to nucleus. if the linear momentum of the alpha
particle s 1.5 P

P Do sid(drio o a8 werygiao a8 Soggo DY) SIS, Sodsd3
WPy SErS GoG wed(od 3“3}3:3]5 ¢rdo d. esery S0 Gbog) GENoW 5yt
1.5 P o S0gs3, wery s ol @eﬁéoé 3"’53:35 &rdo

Options :

2d

1. % 3
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The strongest force in nature is

& 208 o205 B 0BG OIIATT 2D AW.
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